NEHET 7R
3H(A) 48 (K 58 (JK) 6H (K) 7B (£)
k4 B4 —ABY | |#ze BR% —AN&Y | @z BR% —A&Y | |#izs BR% —ABY | |#is BER% —AZY
EXRDE ERD=E ERS = EERDE EXS=E
= |HEEXER 60| (A |[HEAEX(E) 68| & © |24idp/ < HE 50 [ [HEEX(ER) 68| |&€ |HEEXER 60
S ks GmEEREE 15 ? BEX(ER) 75 *” & ek @Eg) 75| |2 |whh—ra— ke 15
f’ 4= 1 _7_ ok 0.5 fff 43 206| |V [sasiex 0.5 2 B OERET ke 5
CES R ASE CIHARESD) 10 & . & = AS 5
4; )\% 7 /U BAKE (2 x2mRXT(R) 40 ()NS5 EER B 60 ;L ¢¥L 206 L ;aﬁiig 1.5
Z, (/‘%) 7 'JQE—X 3] | BB 1 =S ORI BER eI 80 & ﬁiﬁ 0.7
S5 1| Y EE 40| |2 [E@rzrrFesT ke 5/ [ |(FILR) & #H.oh50| |2 [HLE% 0.3
FLesK 3 Az 10 LADDY—R a |l [Fame 60| 72 [ 10
b [EE 2| | |zrocma enun 0] | [ERESE 1T [a3ESE i| 2
O [rem 1| |* [Foreya o] % |t 04| |7 |8 or] |2 [z 206
A - /A )] < by
5 BiE 02| | Iy ¥ 5 [ 7K 3 | x  [X3R=X 1ke 5 |1z
» [HLEM 03f |= [ 5 |4 | |p=Friavd 15 4 [CRIENEEFES 16
K 10 [r Al 0.6 E3HBIL ki 50| |77 (L&KW 0.5
v |EE 03| (& L [HAY=RRE—F ke 3| | | KR 20
T |4 206| |7 [CEih 07| L [R—av(Em) 5 (7 o |EedY 20
L ¥ L&5K 25 é E& 15| |V (LR E&aiE (IL—2) 5 x95 10
A PSTESS DT s |, Lo 12 7 |mmiersnon sm 0] v [FeRy 25 § AS 5
5 |[Bfhil 0—y— 6 |7 FErasy i (U] I P I 10 |z |E83Y 15} (5 [MACEE 2.2
BiE 01 [ |EHAZE 3 |2 [Rux—= 10 |3 |AZ 5 | |LE# 1.2
5 F |AAREZ=Y—=R 1L [TERT ke 4 v |lwhh—ra— 1k 5 (I |BE 0.25
b | SPOERE 20| |v ([EHRE 0.1 Y55 05| |7 |[&EE 15| [ [BYBZE 1
b ] 01| |7 |TcASRA 1 1B & rehkE 15 |F [ewrzomst me sone 1
% A B 10| B [ por—7F 3| [P [emm 12| [ [miss 5
T mise 3| | 2 [msesm 1|3 [pozm i f BEEAEES (2) 10
£55A SHEQB2000 15 1 43 206| |3 Bif 0.7 Bif 03] |4 ) Z5HA 5
KB 15/ |g % |=L&d 003| (5 ) 003| |5 E& 25
AB 5| [+ (LM FECHHE 5 |z [FEravys 05| |4 72 Az 5
LV (RSAR)RE The 5| (Y =Y 15( |+ a—!)T 0.1] |> HgEY L F—(1em) 15 FhE 3
hhE 3l |1 |r=k 10 |18 B 15| | b |r—av(may-mm 5 £ [LeSw 0.6
PHE 6| [~ [&teL 10] |! 7 [Lesing | |7 |[es 0.4
HaHz 5 'E{; (A LERE ke 5| |* [(mzoazr—xasoa 20| |7 [z 0| T [mvwE ~Lm 4
EFL LA 4 o (LR)A—La— ke 5 |x £ Ay¥—= 10 £ HLE®R 1
7K 140| |z | BEE 22| |5 x |AS e |& 125
< |L&SW 2| |« k=D 2| |&
Y545 1| |x I2Al=< 05| (U @& E)— 50
=} ] 12| |F +)—Jh 1] !
“L&> 003 || BAESHE i |~
A FEL YA os| |
T (FYTRARSAIR) 20 ; BiE 0.5 :g
BiE 01| |p L&D 0.03| |z
ThSA 3 |& % 85| |-
izl 0—1— 3| |~
AL —# 0.3 B HEE 6
&1 0.1
@ EmEL)— 50




NEHET 7R
108 (A) 118 ) 128 (K) 138 (K) 148 (£)
B B4 —A&Y | |#z% B4 —AN&Y | |#us B4 —AHY | |#zs B4 —A&Y | |#is BRf —AHy
IED*/\E IED*/\E IED*/\E IED*/\E IEH*/\E
B |BEx@ER) 68| [7  [mu~ssy 50[ [0 [HEEX(EH) 68| [= [EEX(ER) 68| |2 [HEEXK (B 68
£ |mesk@En 15| |V [avRssy s0| |2 [#EEIk (BR) 75| [1F [k @R 75| | [BExk(ER) 75
% [k os| | % [gemiek os| [~ [sEaix os| % |msatex 05
o HLb) b ke 10 ,} REAH DM 18] |4 L
4 |FEBEGEx2mRSAR) 45 A MEL—L 10| (4, 3 |4 206| (|  [mAi(2x3mR51R) 20
g, (L&KW 35| |2 [LEHE 4 43 206 5 |EE 30
=R 1.5 [  |owrzosst B 500 0.5 (4 AN [BEFsEx3x0. 5m 50| [« Lehilrg 20
t A 1| Y [ HLEEEISA ./ 40| |12 [EE 30| (R [ rEL(2x20m) 20
5 |IzAlz¢ 1 [® (43 206 A HLEAETSA d50 A |Zyox 7 By 15
= g 3| |® B |uttm o—y— 4 [P [xz 2| | (w55 i
j'; | 1 ; HiEY L2 F—(Tem) 25 Lj’ i IZA1Z£ 02| [ BHEI=ZN 10
L |puacE 1| |, [ECEEZ 30 |5 [Eery 25| |5 [z 1| g [AZ 5
P e 0.01 XN 30| | [z 20| |;  [EE 1|z |[E==v 5
a2 |R)IFESNAE 25| |&  [RyF—= 15 A 5/ |g  |L&SW 35 [5  [IZAIK 0.5
v | ABBL 25| |3l |mmsEsrEsea. sm 20| | [L&SW 23| = N=t:] 15| | |£E 0.2
A A 5 1ZAIX 05| [F |[&E 22 FHYA 05| [Z (®)bhkE 10
| & 22| |7 [¥55m 1| (& |LagE 12| |® 7 955 1
7 [Ls3w 25| |% [(@®kerk®E 20| | [9545m 05| |Y  [EEnYsa 2| | [mEm 5
L 15 |5 [esrerrrrs o |, [euscz 19 [xteL 25| |3 [45%H 5
Y55 1 |4 e 07} |5 % MR 20 : hL—# 1.1
a1 |ERESHE 1 |p  |Z50E 2|z [AZ 5| | [N ER—T 4
42 206 DRA—Y—R 03| |4 |EE 20 L&SKp 23| b | FrYT Tk 2
L [Fxravyt 04| (A [RTLEI=ZM 15| | &  |RUBE 1 |~ [PREI—Y—XR 1.7
A b4 EELG X Tm) 10| |+ |BiE 02| |Y [AZ 71|19 |LtE 05| |’ [EADDY—R 1
5% 7| [P [cLss 002| | |[hha® 3| [A FoolLesw 1
EF 3 4V 5 5| T [Frust@oqm 05| |2 |=E 20 [P [Frvx a50g 1
AB 1|5 Lo | % [ 5| [# [£aESE i
hhE 3 |5 [R—av(Efh) 5 |+ [BE 07 [+ |EE 20 Bif 06
FLLL=H(RFAR) 05[ [+, [Lehdrd 20 ThSh 0.5 A 5 —L&d 0.04
4= 05| |v  |ELEER 20 |+ (BIYET FZLA 4| & |HhRE 3 FExoavyi 0.5
I2Al=£ 02| [* [AB 7| |1 HLEH 1| | |hHsz 6 & 75
Y5453 05| [R  [zoEf=t+ 71 |1X B 15| | £ [H&% 5
() MHR—T o | [eay 2| |~ W [&FL LA 4 = 206
BiE 0.6 7 Y55 0.5 j; () F—X_ 8531t (B2 13.5 ;’__ 7K 120
L&SW 0.5 (&) R —F 35 |2 Y (B2) B EIVIR 1
FExravIr 0.6 L&swp 05| | -5 |[WEEFENEFVT 5 FrRY 30
CEH 0.2 FExravYA 0.5 2 P35 15
b 120 Big 0.4 (LR)R—La—> kg 5
cL&d 0.05 BEE 25
o—yx 0.1 L&SW 25
% 120 N=f 1.2
BS54 0.5
CEH 0.5
WYBEHITE 0.5
S=heh 30




R&HET 7H
18H (K 198 (K) 20H (K)
kB Bad —A&Y | |#izs Bmdb —A&EY | |#zs Bmd — A&y
EhsE| | Ets & Es &
3 gy 50| |S  [#EKER) 68 (= |EEXER) 68
S EPLA 50 % =L =LY 75 ',f =B =LY 75
. fxeR{b K 0.5 agib K 0.5
=] 206| | 4 %
7 = AL 206| |g, [4E 206
4 [BA M-EEL(2x20m) 30
2L |me sb-EEL(ex2m) 20| |#- (8) =2 (1em) BE REE 15 = |BAFEIVF 20
L&SK 3 [2 [eRy 12| || [&E 1
L | EE 1] [# (b= 2| N | =BGy ke 80
Yoo lxz 1| I |tz@caen ks ors| | [z 35
;‘f;)\ *4 4 i INE# 15 % FFDoKE( 2898 15
L |[cAsA 3| & [ 45| |< |AZ 10
» Hitf-tal O—!)— 5 |5 BiE 0.15 LM (RSAR)BE - The 5
I whos 075 [4 |HhBF 3
ZpiY 25| (K [EQY#H 015[ |® |&EZE 1
7 | FARINSHZR 20| |2 [k 12| [L  [I2AI= 0.8
2 |amk—na—y ik 5/ |& |fftaim o—y— 4| | (455 1
N e 2.3 U (B)higy—R 8| B |@wrzrrFryT ke 5
773“ =t 1.2 :c; fi; L&SK 3.5
2 55 M 1 | |eFBE@x2mz542) 10] |5 (&) AHR—F 3
o |BE 03| |5 [(AFKE 10 |& |EHE 35
¥ |ZL&S 0.03| | |miElT 5 =R 0.6
v Z |EouLsE 15| |3 [FExLaUA 0.6
& |R—av (Efh) 5 FNTIFES 0] I |8 0.1
() Mr[EB (2 X 20m) 271 1= Az 51 17 |[cxm 05
B () pEses—zk 20| |~ [oEcalze< 5| [V |=ERE 0.1
E E#H 20 ,l'; (A) &PV AFA 500g 5 k TARA 1
O VAN )] 03| |y |[HZHH 05 & 30
o |H3FH 05| [ |L&IW 2.2
3 (BB R—F 3| |1z Nd=}F ] 1.2 A hEZIL 12
NG =D 05| |& |(AYA 0.5 O—R/\A GEHR) Bk 5
7 |ak 04| |©  |B 7 AL 25
cL&d 0.03 =Y 15
SRIEER4EL 30 (LM FELAHHE 5 AS 7
FH)—L 5 AS 30 L&SKW 3
= 70 EpdY 15 Bt 3
£ 5 =t 15
YACHEE 25 CEH 1
Y5455 1 N 0.05
BiE 0.3
cL&S 0.03 (E)3I—=4' Lk 70
T E¥E 0.6




